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  2תרגיל 

  ההצרנה:

( ) ( )

( )( ) ( )( )

1. ~

2. / ~

x Dx Cx

x Cx Fx x Dx Fx

→

∃ ⋅ ∴ ∃ ⋅
  

  ההפרכה:

}יהי  }U a=:אזי הטיעון הוא ,  

1. ~

2. / ~

Da Ca

Ca Fa Da Fa

→

⋅ ∴ ⋅
  

ערכי אמת המפריכים את הטיעון:
  

, ,Da F Ca T Fa T= = =  

  

  4תרגיל 

  ההצרנה:

( ) ( )

( ) ( ) ( )( )

1.

2. ~ / ~

x Ix Kx

x Kx Mx x Ix Mx

∃ ⋅

∃ ⋅ ∴ ∃ ⋅
  

  ההפרכה:

}יהי  },U a b=:אזי הטיעון הוא , 

( ) ( )

( ) ( ) ( ) ( )

1.

2. ~ ~ / ~ ~

Ia Ka Ib Kb

Ka Ma Kb Mb Ia Ma Ib Mb

⋅ ∨ ⋅

⋅ ∨ ⋅ ∴ ⋅ ∨ ⋅
  

ערכי אמת המפריכים את הטיעון:
  

, ,

, ,

Ia F Ka T Ma F

Ib T Kb T Mb T

= = =

= = =
  

  

  6תרגיל 

 ההצרנה:

( ) ( )

( ) ( ) ( )( )

1.

2. ~ / ~

x Rx Ex

x Ex Ax x Rx Ax

∃ ⋅

∃ ⋅ ∴ ∃ ⋅
  

  ההפרכה:

}יהי  },U a b= הטיעון הוא:, אזי 



( ) ( )

( ) ( ) ( ) ( )

1.

2. ~ ~ / ~ ~

Ra Ea Rb Eb

Ea Aa Eb Ab Ra Aa Rb Ab

⋅ ∨ ⋅

⋅ ∨ ⋅ ∴ ⋅ ∨ ⋅
 

ערכי אמת המפריכים את הטיעון:
  

, ,

, ,

Ra F Ea T Aa F

Rb T Eb T Ab T

= = =

= = =
  

  

  

 

  8תרגיל 

 ההצרנה:

( ) ( )

( ) ( ) ( ) ( )

1.

2. /

x Tx Ax

x Hx Ax x Tx Hx

→

→ ∴ →
  

  ההפרכה:

}יהי  }U a=:אזי הטיעון הוא , 

1.

2. /

Ta Aa

Ha Aa Ta Ha

→

→ ∴ →
  

ערכי אמת המפריכים את הטיעון:
  

, ,Ta T Aa T Ha F= = =  

  

  

 

 

 

 


